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Announcements
® CBTF Quiz 5 starts tomorrow (Thu, 11/29)

QO: Example Quiz

Total points: 0/60 Assessment is closed and you cannot answer questions.

For this practice quiz you can use this Centroid and Moment of Inertia Table

Question Best submission @ Available points ® Awarded points ®
Question 1 [ unanswered | - on
Question 2 m — on
Question 3 m — on
Question 4 m - 0/10

| Upcoming deadlines:
* Friday (11/30)
¢ Written Assignment

* Tuesday (12/4)
e PLHW
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Parallel axis theorem °

* Often, the moment of inertia of an area is known for an axis passing
through the centroid; e.g., x and )/’:

® The moments around other axes can be computed from the known I, and
]/;.
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Note: the integral over y’
gives zero when done through

ur(djl 4 Zdj ‘j"f jv"hm  |the centroid axis.
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Moment of inertia of composite

e [findividual bodies making up a composite body have individual areas
A and moments of inertia I computed through their centroids, then the
composite area and moment of inertia is a sum of the individual

component contributions. I % + Iﬁt 1)0 il 0

e This requlres the parallel axis theorem ( {IJAV(F-O‘ OM"‘ Ml"\’ 5‘\‘7(5)
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Find the moment of inertia about its centroid:
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Determine the moment of inertia for the

cross-sectional area about the x and y

centroidal axes.
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